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Show all necessary steps for full marks. 
 

Question 1: (5 points): (1.7 Exercise 24):   Find the solution set 

of ( )2 1 2 4 1
3 6 3 3

x x x− − + + ≤ . 

Solution: 

 
Question 2: (5 points): (1.7 Exercise 39):  Find the solution set of 2 6 0x x− − > . 
Solution:   2 6 0x x− − >    ⇒     ( 3)( 2) 0x x− + >                                           
The critical values of the inequality are 2−  and 3 .     
 
                  2 6x x− −    + + + +  + +  | - - - 6−  - - - - | + + + ++ + + ++ +                                                
  
    x      −∞               2−          0          3                             ∞    
Test:  If 0x = , then 20 0 6 6− − = −  

(Solution set , 2] [3, )−= ∞ − ∞∪                                              

Question 3: (5 points): (1.7 Exercise 77):  Find the solution set of 10 5
3 2x

≤
+

 

Solution:   
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Critical values:                                   3 1
2 2
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Question 4: (5 points): (1.8 Exercise 71):   Find the solution set of 23 14x x+ =  

Solution: 

 
 
Question 5: (5 points): (1.8 Exercises 30 and 31): If A  is the solution set of 3 4 2x − ≥  

and B is the solution set of 1  2
2

x− < , then find ?A B =∩  

Solution: 

 

 
 
A:                                                                          
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